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QUESTION 1

A VMM endpoint off of a UCSB is unable to hit its anycast gateway, but the MAC address of the VM can be seen in one
of the fabric interconnects Wh1Ch option is the cause of the issue? 

A. The active NIC on the host has gone down and the host has not yet failed over. 

B. There is no native VLAN configured within the data path of the Cisco UCS. 

C. LLDP is not enabled in the vSwitch policies. 

D. The VLAN tag is being changed at the vNIC or uplink port. 

Correct Answer: D 

 

QUESTION 2

What is the valid shard range for an object DN? 

A. 1-64 

B. 1-16 

C. 0-15 

D. 1-32 

Correct Answer: D 

 

QUESTION 3

In the Cisco Nexus 9508 chassis, how many Broadcom T2 ASICs are on the fabric module? 

A. 4 

B. 1 

C. 2 

D. 0 

Correct Answer: A 

 

QUESTION 4

Which Cisco UCS policy is required for VM endpoints to be discovered by the Cisco ACI fabric? 

A. LAN connectivity policy 
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B. network control policy 

C. dynamic vNIC connection policy 

D. LACP policy 

Correct Answer: D 

 

QUESTION 5

Refer to the exhibit 

shell:domains = domain / Role1 | Role2 | Role3 / Role4 | Role5 | Role6 

In the Cisco AV Pair, which two options are correct? (Choose two.) 

A. Role1 = Read 

B. Role2 = Read 

C. Role5 = Write 

D. Role2 = Write 

E. Role6 = Write 

F. Role1 = Write 

Correct Answer: AE 
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